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at the

it ft€ alfts :

(t + 12 
) h*2 + {zn + l) x !n+-t + nzyn = l.

If:
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frog {, 

* ,[*l ]]',

$ e -5 f{ft d s-dr.r * ft-€ atRrq fu ,

1T(,'+ 4r)= s

Using e - I method, prove that :

1t;.,(.'+4:c)=s
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(aT) 3rrfi${frfd vrm efifrq :

^ Yt-t'yo2y2-4y*x=o
Find the asl/mptotes :

y3 -*2y"rTyz -4y+"r=o
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!=x3+2x2+x+1
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For thc curve :

)' = xl + 2x2 .t 'r + l,

find the equation of the circle of eurvirtlrre
point (0, i)"
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Trace the curve :

Find the area

and x2 = Aby.
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4. (s) sor aftj&q :

(o'" 2D2 + D):, * e2'

Solve:

(o' * 2D2 + D), = e2'' .* r? + r.
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Solve:

to'r, - zxy2) rtx - (r' - Sxry) dy * o .
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Solve :

y=xpz+p..
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rTd qfrflq :

.-1 rl2 .1' / t.. *;-- -, {}:- +
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Solvr: :

dr/
-(x2 +zx)

-r (x + 2) 1t * x3e*

+(x+2)y*x3e,-

(w) ro +tftq;

dy_

dt

-l-5x+31=0.

+2x+,j=g
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+2x+y=q

n{y

-- i 5.r {- ,}y, .-. 11.
a al

(A-3rl

UL

dx .t-w
I . ,\.tlt,'-;'I\' t

Solve:

dx

x{f - zz'tr z *2*y2

{,1-31)

I

*-
dr

I
t

(


